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Multiconversion Questions

1. Aldehyde is converted in to 1° alcohol by

A. oxidation
B. reduction
C. hydroxylation

D. hydrolysis

Answer: B



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yeysczdVqq5z

L % VIEW I1CXL S0I1Ution

2. —CH, — OH on oxidation gives

A.—COOH

B.—CHO

C. >C=0

D. > CH,

Answer: A

° View Text Solution

3. Cyanide on partial acid hydrolysis gives

A.—COOH

B.-CONH —,

C.NH,


https://dl.doubtnut.com/l/_yeysczdVqq5z
https://dl.doubtnut.com/l/_lJATSmCZ7ZR7
https://dl.doubtnut.com/l/_9o8hhvvJyOS0

D. -NH —

Answer: B

° View Text Solution

4. Which reagent is not used to replace —OH group

from alcohol by — Cl atom ?

A. PCI;

B. SOCI,

C. PCl,

D.Cl,

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_9o8hhvvJyOS0
https://dl.doubtnut.com/l/_RYibwiMfrA00

5. Which of the following has + I effect ?

A. CF;

B.-CHO

C. SO H

D. CHj

Answer: D

o View Text Solution

6. Which of the following has + I effect ?

AO~
B. (CHj3),C —
C.CH,

D.F


https://dl.doubtnut.com/l/_MaipOMN2zNP1
https://dl.doubtnut.com/l/_5DLWaL6rCFr0

Answer: D

° View Text Solution

7.Electron donating groups are,

A. o-direction

B. p-directing

C. m-directing

D. o and p-directing

Answer: D

° View Text Solution

8. Which of the following groups are m — directing :

A —OH


https://dl.doubtnut.com/l/_5DLWaL6rCFr0
https://dl.doubtnut.com/l/_RAHbHeHhq8Ol
https://dl.doubtnut.com/l/_J4echXAAIllg

B. — OCHj

C.—CHO
D.—NH,
Answer: C

° Watch Video Solution

9. Which of following reaction does not give alkane?

B.R — MgX + HCN —

C.R— MgX+R—CN —

D.R— MgX +R—-OH —

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_J4echXAAIllg
https://dl.doubtnut.com/l/_IvShre1xxXO6
https://dl.doubtnut.com/l/_F3Zq5hYnH6PK

10. Formaldehyde and R- MgX gives,

A.1° alcohol

B. 2° alcohol

C. 3° alcohol

D. mixture of 1° and 2° alcohol

Answer: A

o View Text Solution

11. Which of the following is Stephen's reducing agent ?

A B, Hj

C.SnCly + HCI

D. Pd — BaSO4 + quinoline


https://dl.doubtnut.com/l/_F3Zq5hYnH6PK
https://dl.doubtnut.com/l/_rnUqfG8mleTY

Answer: C

° View Text Solution

12. Esters are reduced by DIB — Al — H gives

A.—CHO
B.>C=0
C.-C=N

D.—-COOH

Answer: A

° View Text Solution

13.R- COCl is converted into aldehyde by using

A. Pd. BaSO4 + quinoline


https://dl.doubtnut.com/l/_rnUqfG8mleTY
https://dl.doubtnut.com/l/_KFkdYby9BMVx
https://dl.doubtnut.com/l/_2aRphz3NLDm3

B. SnCl, + HCI

C.DIB—- Al—- H

D. LiAlH,

Answer: A

° View Text Solution

14.CH, — OH group is obtained from — COOH by using

A. LiAlhy

B.SnCly + HCI

C.H, + Ni

D. ZnHg+conc. HCI®

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_2aRphz3NLDm3
https://dl.doubtnut.com/l/_kghlk1v2SBmk
https://dl.doubtnut.com/l/_YJO9e6b3V7YI

15. Alkyl benzene is converted in to carboxylic acid

by using

A. NaOX

B. KOH + KMnO,

C.O;

D. Collin's reagent

Answer: B

° View Text Solution

16. — COOH group is obtained by acid hydrolysis of

A —CHO

B.-C=N

C.—CH, — OH


https://dl.doubtnut.com/l/_YJO9e6b3V7YI
https://dl.doubtnut.com/l/_oFrBSKeogGr2

|
D.—C —

Answer: B

o View Text Solution

7Z.R — COOH —“ 4 R— COCL Whatis A

A. HCI
B. NaCl
C. SOCl,

D.Cl,

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_oFrBSKeogGr2
https://dl.doubtnut.com/l/_rIU6FmrSMMNG

18. Correct order of — I effect is

1.~ CN2.CF;

3.-NOy 4. —-SOsH

Ad>3>2>1

B.2>3>1>14

C3>1>4>2

D.3>2>4>1

Answer: B

o View Text Solution

19. The group which deactivate benzene is

A.—CHO

B.NR,

C.-OH


https://dl.doubtnut.com/l/_YgEGCPho57dq
https://dl.doubtnut.com/l/_jryzuayIwEcI

D. — CH,

Answer: A

° View Text Solution

20. Correct order of + R effect is 1.

1—CH; 2~ OH

3.—OR 4. — NH,

Ad>2>1>3

B.4>1>2>3

C4>2>3>1

D.4>3>2>1

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_jryzuayIwEcI
https://dl.doubtnut.com/l/_YgRE01SBRu1G
https://dl.doubtnut.com/l/_N1IPaz8KiQN0

21. Ry,CH — OH is obtained from R — MgX and what

AH—-CHO
B.R — COR
CR-CHO
D.R—-COX
Answer: C

o View Text Solution

22. Ester is converted in to mixtrue of 1° and 2° alcohol

by using

A. SuCly, + HCI

B. H, + Ni

C. NaBH,

D. Pd. BaSO4 + quinoline


https://dl.doubtnut.com/l/_N1IPaz8KiQN0
https://dl.doubtnut.com/l/_x9ej0eNAaBZG

Answer: B

° View Text Solution

23. Reducing agent used to convert benzene

diazonium salt to benzene is

A. Zn + NH,CI

B. Na + 02H5 — OH

C.C,Hs — OH

D. LiAlH,

Answer: C

° View Text Solution

24. — NO, group is reduced to — NH, by


https://dl.doubtnut.com/l/_x9ej0eNAaBZG
https://dl.doubtnut.com/l/_yGWzDtJqeNdl
https://dl.doubtnut.com/l/_H6HskGW6yjgZ

A. Fe + conc. HCI

B.SnCly + HCI

C. Na + 02H5OH

D. ZnHg + HCI

Answer: A

o View Text Solution

25. Wolf Kishner reduction convert > C = O to

|
A.—CH group

|
B. > CH, group
C.—COOH group

D.CHj3 — group

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_H6HskGW6yjgZ
https://dl.doubtnut.com/l/_kcZ4cSQROEOo

26. Methyl 2 -methyl propanoate is reduced by

DIB — Al — H gives

A. 2-methyl propanoic acid

B. 3-methyl butan-2-one

C. a-methyl propionic acid

D. 2-methyl propanal

Answer: D

o View Text Solution

27. Propiophenone is reduced by NaBH, gives

A. 2-phenyl propan-2-ol

B. 1-phenyl propan-1-ol

C. 1-phenyl propan-2-ol


https://dl.doubtnut.com/l/_kcZ4cSQROEOo
https://dl.doubtnut.com/l/_81Mt3gkausj4
https://dl.doubtnut.com/l/_c1CHyVt6OBtU

D. 2-phenyl propan-Tol

Answer: B

° View Text Solution

28. Ethyl benzoate is reduced by NaBH, gives

A. benzyl alcohol

B. benzaldehyde

C. benzoic acid

D. none of these

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_c1CHyVt6OBtU
https://dl.doubtnut.com/l/_d0QbYluIoCUW

29. Mixture of acetic acid and propionic acid is

obtained by oxidation of

A. pentan-2-one

B. butanone

C. pentanal

D. propanone

Answer: A

o View Text Solution

30. 2-phenyl prop-1-ene on oxidation by ozone and

followed by hydrolysis in the presence of zinc gives

A. mixture of acetophenone and ethanal

B. mixture of benzaldehyde and ethanal

C. mixture of acetophenone and methanal


https://dl.doubtnut.com/l/_zZW8PvEgu3Fj
https://dl.doubtnut.com/l/_R90CsIHaFR0W

D. mixture of benzaldehyde and methanal

Answer: C

° View Text Solution

31. Acetone is obtained by ozonolysis and followed

by hydrolysis in the presence of zinc by

A. 2, 3-dimethyl butan-2-ene

B. 2, 3-dimethyl butan-1-ene

C. 2-methyl butan-2-ene

D. 2-methyl butan-1-ene

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_R90CsIHaFR0W
https://dl.doubtnut.com/l/_HLvQTg82UhfS

32.Benzamide is reacted with sodium metal in

ethanol gives

A. Aniline

B. Benzyl amine

C. benzoic acid

D. Benzaldehyde

Answer: B

o View Text Solution

33. 2-Phenyl butane on oxidation by KOH + KMnO,

gives

A. Benzoic acid

B. 1-phenyl ethanoic acid

C. 2-methyl butanoic acid


https://dl.doubtnut.com/l/_pjQILOoYdsPH
https://dl.doubtnut.com/l/_sJWT0FtJoj1Q

D. 3-methyl butanoic acid

Answer: A

° View Text Solution

34.3,3-dimethyl butanoic acid is obtained from dry

ice and what ?

A. Iso-butyl-MgX

B. t-butyl-MgX

C. Neo-pentyl-MgX

D. t-pentyl-MgX

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_sJWT0FtJoj1Q
https://dl.doubtnut.com/l/_UeVDIN27DuHN

35. Hydrogen cyanide is reacted with ethyl

magnesium halide gives

A. Iso butane

B. ethane

C. butan-l-ol

D. butan-2-ol

Answer: B

o View Text Solution

36. Benzophenone is obtained from Ph-MgX' and what

A. Benzaldehyde

B. Benzoic acid

C. Benzonitrile

D. 2-phenyl ethane nitrile


https://dl.doubtnut.com/l/_WPnun3v4Z9Cf
https://dl.doubtnut.com/l/_JJn8aoW3iFft

Answer: C

° View Text Solution

37. (mix) B % (CH3),C — OCH, % A(mix)

A. Ais the mixture of (CH3),C — OH and CH; — I
B is the mixture of (CH3),C — I and CH; — OH
B. Ais the mixture of (CH3),C — I and CHs — I
B is the mixture of (CH3),C — I and CH; — OH
C. A and B are identical mixture of CH3I and
(CH;),C — OH

D. none of these

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_JJn8aoW3iFft
https://dl.doubtnut.com/l/_T5pCiIl0SDg9
https://dl.doubtnut.com/l/_sbXxxhaCKamV

38. An organic compound A forms B with Na metal.

A also forms C with PCl5 B and C from diethyl

ether. Identify the compounds A, B and C

A 02H5OH, CQHE)CZ, 02H50Na

B. 02H5Cl, C2H50Na, 02H5OH

C. C2H5OH, CgHﬁ, CQHE,CZ

D. CQH5OH, C2H50Na, C2H5Cl

Answer: D

o View Text Solution

39. The compound (A) on treatment with Na gives
(B) and with SOCI, gives (C). The (B) and (C) react
together to give dimethyl ether. The (A), (B), (C)

are in the order.

A. CHgoH, CH3CZ, CHgONa


https://dl.doubtnut.com/l/_sbXxxhaCKamV
https://dl.doubtnut.com/l/_GqxCj3jKNxGD

B. CHgOH, CH30N(I, CH3Cl

C. CH3;0Na, CH,Cl, CH;OH

D. CH3CZ, CHgONa, CHgOH

Answer: B

o View Text Solution

40. An organic compound (A) Co HgO react with
sodium metal to form compound (B) with

evolution of Hy gas give yellow compound

(C) with alkaline iodine. When (A) is heated with
conc. Hy 50, at 413K gives a compound (D) C4H;,O.
Which treatment with conc. HI at 373 K gives (E).
The compound ( D) also obtained when (B) is

heated with (E). Identify compound(E).

A CH;CH,OH

B. CH;CH,I


https://dl.doubtnut.com/l/_GqxCj3jKNxGD
https://dl.doubtnut.com/l/_aOkX0GMOlzMI

C. CoH;OCH

D. Cy H;OC, H;

Answer: B

o View Text Solution

41. An optically active alky halide (A) CyHy X reacted
with aq. KOH and gives a product (B) CyH1(O. The
compound (B) on oxdiation gives ethyl methyl
ketone. What is the structure (A) and (B) ?
A.CH3;CH,CHy,X and CH3CH,CH,CH;OH
B. CH3CH2CHXCH3 and CH3CH2CH2CH20H

C. CH30H2CH2CH2X and CH30H0H0H20H3

D. CH3CHQCHXCH3 and CH3CHOHCH20H3

Answer: D



https://dl.doubtnut.com/l/_aOkX0GMOlzMI
https://dl.doubtnut.com/l/_AErgJOiD7lfW

l o VIEW |eXt >olution

NaCN Na.Ha+HCI1 .
42. A > B > 2-methyl 1-propanamine

In this reaction A and B are

A. n-propyl iodide and butane nitrile

B. iso-propyl iodide and butane nitrile

C. iso-propyl iodide and 2-methyl propane nitrile

D. iso-propyl iodide and iso-butyl iso-cyanide

Answer: C

o View Text Solution

43. Identify the final product Z in the following

sequence of reactions

KOH alc. HBr CH_(3)ONa
02 H5I >y X > Y >

A.CyH5;OCHj,


https://dl.doubtnut.com/l/_AErgJOiD7lfW
https://dl.doubtnut.com/l/_ILeKaEiqfGB1
https://dl.doubtnut.com/l/_ICdyBjbDAB2x

B.CH, = CH,

C.C,H,OH

D. C2H5B’I‘

Answer: A

o View Text Solution

HI aq. NaOH
44 CH3CH = CH, > A

R_(2)0_(2)

In this sequence of reaction A and B are

respectively

A. CH3CH2CH2I, CH3;CH>,CH>,OH

B. CH3CHQCHQI, CH3;CH = CH»

C.CH;CHICHs,CH3sCHOHCH;

D.CHsCHICHs, CHsCH = CH>

Answer: C

| .


https://dl.doubtnut.com/l/_ICdyBjbDAB2x
https://dl.doubtnut.com/l/_ui8q34QS175b

l @ View Text Solution

OH alc.
45. 4 < CH3CH,Br -2, B

A and B are respectively
A. CoHy, CoHg
B. C4H19, C2Hy
C.C4H,y9, CH3CHOH

D.CyHy, CHsCH;OH

Answer: B

° View Text Solution

46. An ether (A) C5H120 when heated with excess Hl
produced two alkyl iodide, which on alkaline

hydrolysis forms compound (B) and ( C)


https://dl.doubtnut.com/l/_ui8q34QS175b
https://dl.doubtnut.com/l/_XQ0rVzqJNj4G
https://dl.doubtnut.com/l/_6TjXoB5YO2jZ

Oxidation of (B) gives acid and oxidation of (C)

gives ketone. What is compound (A) ?
A.CH;0CH,CH,CH,CH;
B.CoHsOCH,CH,CH;
C.CyH;OCH(CHj),

D. All of these

Answer: C

o View Text Solution

47. In the following sequence of reaction

KMnOs+ KOH SOCT? H,/Pd
Toluene s A s B

BaSO4

The product C is

A.CsHsCOOH

B. CsH;CH,

C.CsH:CH, — OH


https://dl.doubtnut.com/l/_6TjXoB5YO2jZ
https://dl.doubtnut.com/l/_lxwrjQKKd2hq

D.CsH;CHO

Answer: D

° View Text Solution

48. Product 'C'" in the following reaction is

NaCN SnCls + HCI conc. NaOH
> A > B =
H;0+

COONa

ONa


https://dl.doubtnut.com/l/_lxwrjQKKd2hq
https://dl.doubtnut.com/l/_ssk9Up6E9Dew

COCH,

©

CH,

©

Answer: A

C.
D.

° View Text Solution

49. Compound A in the following raction is

Hs0™"

CH; -Cl+ A — CH; - CH, - COOCH; —— CH; — CH, — COO

A.CH; — CH, — OH

B. CH3 - CH2 — ONa


https://dl.doubtnut.com/l/_ssk9Up6E9Dew
https://dl.doubtnut.com/l/_m6iPjeSyC1oS

C.CH; — CH, — COOAg

D.(CH; — CH, — COO0),Ca

Answer: C

° View Text Solution

50. In the following sequence of reaction product "C" is

(2)dry ether

H - CHO + CH; — CHy — CHy — MgX ————— A

(i) H3O+
conc. H,CO, (¢)B:Hs /THF
> B >

(i6) HyOs | OH
A.Chs — CH = CH — CHj3
B.CH; —CHy; — CHy — CHy — OH

C.CHs — |CH — CHs; — CHj;

OH

D.CH3 — CHy — CHy — CHO

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_m6iPjeSyC1oS
https://dl.doubtnut.com/l/_4NAqtLfXclD3

51. Product "D’ in the following reaction is

i)ByHs /THF K,Cr,O
CH3CH:CH2 (i) BoHe . A 2 27+\

/4 7
(it) HoP2 /OH ~ dil . H2504

PCls H,0
B s C s D

A.CHs — CH,CHsCOOH

B.CH3sCH; — CHO

C.CH3; — CH, — COOH

D.CH3; — COCH;3

Answer: C

o View Text Solution

52.Product’C'"’ in the following reaction is

+ (6]
CH, - CH - CH - CHs %, 4%, B

dry HCL
_—
2CHs — OH



https://dl.doubtnut.com/l/_4NAqtLfXclD3
https://dl.doubtnut.com/l/_cJPTdGkgWBT4
https://dl.doubtnut.com/l/_HcSz6DXoeryl

ACH;—- C —-OH

B.CH; — C — OCH,

C.CH; — C — OCH;

D.CH; — C — CH;

Answer: C

o View Text Solution

53. Products B and C in the following reaction are

CH;
| KOH (alc.) ()O3
CH, — CH — CH — CH, Y A y B+ C

A CH3 — COOH and CH3CH3 - COCHg

B.CH; — CHO and CH; — COCHj

C.CH3; — CHO and CH3; — COOH


https://dl.doubtnut.com/l/_HcSz6DXoeryl
https://dl.doubtnut.com/l/_9u5XML631cjP

D.CH; — COOH and CyH; — COOH

Answer: B

° View Text Solution

54. Find out final product in following reaction

AlBrs KCN SnCly+ HCI
C2H6 + B’l”2 s A s B >
H;0+

A CH; — CH, — CH;

B.CH,; — CH, — CHO

C.CH; — CH, — COOH

D.CH; — CH, — Cl

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_9u5XML631cjP
https://dl.doubtnut.com/l/_jB836VpuPpCV

55.Product "D’ in the following reaction is

KCN H;0+t SOCI1
CH; —CHCl—CH; — A—" 4 B L C

H,/Pd
- D
BaSO,

A.CH3; — CH — CH3

CHO

B.CHs — |C'H — CHj;

CHj

C.CH; — ‘C'I-I — CH3

coct

D.CHj3 — |C'H — CHj;

COOH

Answer: A

o View Text Solution

56. Product 'C'" in the following reaction is

() dry ether HI
CH; — CHO + C2HsMgX s A >
(i) H30*

Alc. KOH


https://dl.doubtnut.com/l/_JJDviowbmPD7
https://dl.doubtnut.com/l/_8deQPSBMmplM

A CH; — ‘C’H — CH, — CH;

OH

B.CH3; —CH = CH — CH;3

C.CH3; — CHy; — CH = CH,
OH

|
D. CH3 - C - CH2

Answer: B

o View Text Solution

57. Find out products C and D in the following reaction

(i) dryethaet
CHs — COCH, + CHsMgl ——— "% A
(ii) H;O+
conc. Hy 1) O,
B0 g W% o4
(ii) H30+

A.CHy; — CHy — CHO and H - CHO
B.CH; — CHs — COOH and H — COOH
C.(CH3),CO and H — CHO

D.(CHs),CO and H — COOH


https://dl.doubtnut.com/l/_8deQPSBMmplM
https://dl.doubtnut.com/l/_D7FUxEkTTSSq

Answer: C

° View Text Solution

58. Find out final product in the following reaction.

CHy
| LiAiH, ccC
CHs — CH — COOH L4 B
(i) NH, — NH,
TR o
(ii) KOH

CHg
|
A.CH3; - CH - CH = NOH
CHj
|
B.CH; — CH — CH, — NH,

CHy
|
C.CH; — CH — CHj

cH;

|
D.CH; — CH — CH, — OH

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_D7FUxEkTTSSq
https://dl.doubtnut.com/l/_zN9Jh4Ro4pBW

